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Graphing with Technology

Login to your computer and go to: www.desmos.com/calculator

1) Start by graphing the functions:
fix) = Vx g(x) = x1/2
Sketch the graph below Sketch the graph below
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2) You should have two graphs that look the same, explam why thls mak@s sense.
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3) Complete the table of values using the function you graphed above: f(x)} = vX
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6) Now graph the function: h(x) = ¥x -
Sketch the graph - . Complete the table of values for h{x):
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7) What is the domain of this graph? Why does this make sense?
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'f(x)=\/§ and h{x) = ¥x are parent functions, we can shift a graph around the coordinate plane by
changing the equation slightly. Fill in the chart to describe the translations (shifts) that happen to the
parent functions when we change the equation slightly.

Parent function: f(x)=+x Parent function: h{x) = ¥x
Graph Translation Graph Translation
f(x)=vx+2 Left 2 h(x) = ¥x + 4 Left 4

f(x) =vx—3 right 3 h)=Vi=2 | right 2
f(x) =vx + 4 wp h(x) =Vx + 3 wp 3
f(x)=vx—6 douvun 6 h(x) = Vx ~ 2 down 2

8) Make a prediction: How will the graph of f(x) = +/x shift for the equation f(x) = vx — 2 + 3? Check
diction.
your prediction iji\at- ,2_ and wp 3

9) Finish by graphing: f(x) = |x|

Sketch the graph below Complete the fable of values
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10) What is the domain of this graph? carge
all real H's | Y20

11) Predict how the equations will shift the parent function f(x) = |x|. Check your prediction and make
corrections if needed.

Equation Prediction | Checkl correct mistakes
fx)=|x+2[-4 Left 2, down 4

i) = |x —4[ +10 right H wp (O v

f(x})=|x+5] +2 lefe S p 2 v

11) Write an equation to shift the absolute value function up 1 and right 3.
Y= [x- 3\ 41

12) Write an equation of an absolute value function. with a vertex located at (-2, -5).
gz [r+2l—5"



